Quiz 11.1 Retake

1. Find the first 3 terms: a, = —2; a,, = 3a,_, — 4.

2. Find the sum.
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Lesson 11.3: Geometric Sequences and Series

In a geometric sequence, the ratio between successive terms is constant.
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Which of the following are geometric?

2, 6, 18, 54, ...
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Suppose a; = —2 and r = 3, then find the following:
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a) nth term a-c"

b) 10" term
c) Recursive Definition
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Suppose a; = 10 and r = %, then find the following:

a) nthterm
b) 5 term
c) Recursive Definition

SO
@) | (15’\: 0.25
‘5/%



Find the 9'" term in the given geometric sequence 10, 9@ 7z
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Finding the Sum of Finite
Geometric Series
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Finding the Sum of
Infinite Geometric Series

If |[r| < 1 then,
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Flndthesumof§+12+24+ -+ 3072 K s a; - (1—-r")
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Write the following in summation notation:

6+ 12+ 24+ ---+ 3072
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Find the sum. c a;-(1-r")
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Find the sum. c _ (-1
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Find the sum. % a; - (1—1r™
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Find the sum.
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Find the sum.
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